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GATITU SECONDARY SCHOOL, P.O. BOX 327 — 01030, GATUNDU.

121/1 Mathematics Paper 1. Time: 2Y/, hours.

Instructions to Candidates.
i)This Paper contains two sections A and B
ii)Answer all the questions in A and any five in B .

iii)Use the space provided below each question to answer the questions.
iv)All working must be shown.

v)Slovenly work is highly penalized.

4 _MATHEMATICS P1 END OF TE| N. 2014.

Vi)KNEC Mathematical tables and non-ﬁrogrammable calculators ($ILENT) may be used unless

where stated otherwise.
SECTION a A (50 marks)

A ' i
1.Evaluate:- 0.64 x (1.69
(0.04 x 38.44
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2. Given thatlog y=3.142 and log x =2.421 evaluate log x*-% logy 3
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16.8cm on the map?

1b.8< 125, oo©
2\ 9, 5D

W

2)

3. The scale of a map is 1:125,000. What is the actual distance in kilometres represented by

(3mks

4. Aline L isperpendicular to the line y = 3x. If the line passes through point

(0, 4) Find:
a)the gradient of L
3= 3*
G= >
Cn - '\‘/}

b)the equation of L

(1mk

(3mks

5.A Kite whose verticles are P(0,8) Q(3,3), R(0,1) and S(-3,3) is rotated about the oriéin

through 180°. Find the co-ordinates of its image.

(RS
()-z)- 253
| - () R’ [o;»)
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6. Factorise completely , : :
a)2x?-32 | 92MKS

B’ + 8t + 1t (3mks

L L&ﬁwt‘“‘?—)
tt*' byt

e (b)) 270
L Lh—b) (& *gg
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/-‘—————""
7.Solve the following inequalities and illustrate your answer on a number line.

12 =X 726 L2X-2 -
|12-x= §
1= X

S & z2x -2
7 & 2

3.5 &

Y
- -2 1 Y b

Powered By: www.manyamfranchise.com

(4mks

oY \ﬁ’?

8

VR,




8. Evaluate Iog;S 12.89 leaving your answer co;rect to four significant figures. (3mks
29 — . |.5k®
Loge12-€7=4 | v=12°
5’&—,. y2.-€9
? Y Lig s = Log 12:£5
- .£9
\Log &
—\-\103
N -),L.ET
0-b59
N—
9, Make B the subject of the formula (3rhks
L _ g
N-bpA-E
gq, b—, _ot
T -+ - T
P e be-s )
N - -
be-sE =%
g-(0- )= ¢
8P G
=)
10.Without using calculator evaluate 3Y, - 2% = 1%, (3mks
o | 3/7 of 32/3 + 34/7
\0 _ ¢ - y
3 35 EL. R
2y ~ 2¥
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11. Thefigure below is a cone with the vertex at A and diameter BC. The cone is tut off

~ a)Find the base radius of the cone AD E
\,:L», VS - @'Sﬁﬂf

Lt~ 225~ 2428

\/:'— - 234" T8
W~ k-5

b)Find the volume of the frustum.
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12.  Find the sum of eight terms of the series below.

2 +6+18 + (2mks

—

13. Points A*(2,4), B(3,7) and C(5, 13) are three points. State whether the points are

collinear. (3mks
A~/ =2|_ S')
| > )
)8
Ac -|s _ 2 13
533

SECTION ‘B’

14. The circles with centres O; and O, have radii 18cm and 12cm respectively and the
chord AB is 18cm long. ‘

0[ 0&— - T c?
~ + )5 b
& -9 23%-SCny
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a)Find the length O, O,

(3mks

: R i Y AY
Sn=9 T13%-7
174 —_
p-26bx2
~ o
&~ s3-)
B)Find the cpmr;;n' area between the two intersecting circles. (7mks
19 .
5/_3'_‘_)(‘\87("%3(3"“?' ZEBD‘TK'L‘_L‘.KS/H-PL 2Db’
, ~ C -
o =92. by T 222
to ~ _ - A3 cm T
= 1500 b am ' 4‘:’:"——'—:
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- & o
-129- 5 - 23,520
yA Q__'_lf ) Cen —_—
15. Find the vertices of a triangle defined by the intersection of the lines.
Y=x, y-1=-3 3y-6=2-x (5mks
Yo 7 3y=-—%-—-x
e :
w’. D‘l '“/Z t§i
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to the y — axis.

"

w4

-
2oct-UocA) +20 ~ Vo = o

Z'L
Lf)c.zc,
|
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b)Find the equations of the tangents to the circle 2x* + 2y? -4x + 2y -10 =0 which are parallel

(5mks

of a right pyramid with a square

s
/= | -~
. |<=%
“ &= 2 2,0§
16) A hopper used in building construction is a frustru
bottom and a square top of side 2m and 1 m respectively. If the height of the hopper is 1.5m,
find surface area. (10mks)
22 =HM )
-\ M ~
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=
)
Z



: mtﬂ! Find

: lm-tune they met.
E 2H0 ¥ v

s= 5

b)How far they met from Nairobi

(09 % J-o2b3
o2 b v

//__———'

I
P
=3 =&
A§w
2440~ LS = ‘QC“C‘;\M
9 \eM
: @‘5, q/o
T= !"’5 =\ Zevo.
20
i
q.gzOM

é ~ 17...... Amotorist left Embu for Nairobi a distance of 240 km at 8 a.m. and travelled at an
- average speed of 90 kph. Another motorist left Nairobi for Embu at 8.30 a,m and travelled at
-

(6mks

(4mks

18 The following are masses of fish in kilogrammes caught by fishermen in one day

Mass 04 5-9 10-14

15-19

20-24

25-29

30-34 35-39

No of 2 6 20
Fish

12

10

5

6 2

Using a frequency distribution table find

a)Mean
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b)Median

Tdes |2 | £ 19x
qu: Z z 0
s-9 |1 |& f4"
1o~ I A 20 |24V
w-2Yy |r+ po [zio
L{,Lq 2% 5 135
2v-3Y 2 b Q2
5,5‘3 T 12 4

c)State the modal class
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19.Given y = sin 3x and y = cos ?/3x draw their graphs on the same axis for O £x €360° (6mks

i)From your graph find:-

a)the period of y = sin 3x

(2mks

b)the value (s) of X for which sin 3x = cos 2/.x

20. Solve the following pairs of simultaneous equations

i)4x - 2y =3

YW— =30%9
O
~ 2]

)

D=

o

¢ =

‘“é%
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ii)3a + 5b = 20 9L tch= 20 O™ \a‘;_gfi -).87°
“S

6a-5b=12 a—
— 20 | - 20-960
?,q%—S’L- sb o 5 a <3z 3
bo - Sb = ' 2 T -2
/’—g—;—”" Sb = 1go_ ab L
a = %7__ - sL- g_q&. | B
/ A 1 '
= v - Y
M - |
3| 2=)rso= 22 45 g

b)Mary has 20 shilling more than Eunice. After Mary spends a % of her money de Eunice a /5™
of hers, they find that Eunice has ten shillings more than Mary. How much money did each
person have at the beginning. (4mks
/
&~ zc
M = 20¥>X
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A}Z =8cm and BC -‘j 10cm (5mks

Sk SR SIS SR B

b)On the side AC draw an escribed circle and stafe the radius of the circle. (5mks
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